TRANSMITTAL SHEET FOR NOTICE OF INTENDED ACTION

Control	33		Departme	ent or Age	ency Env	vironmer	ntal Management
Rule No.	335-3 A		хC				
Rule Title:	= EPA Regi = Standard	nation s and N	Reference Do National Emis	ssion Sta	tor New Sondards for	ource Pe Hazardo	rformance ous Air Pollutants
			TOTAL LANGE	301011 0000	internation to i	TRIZATOR	Adopt by
	_ New _	<u>X</u>	_ Amend	**************************************	Repeal	***************************************	Reference
Would the a significantly welfare, or s	harm or e		posed rule or the public	health,			YES
	e power an	d the p	ship between rotection of t re?				YES
			ve method of dadequately				NO
indirectly in	creasing th	ie costs	the effect of d of any goods what degree	sor			NO
	the harm t	hat mig	more harmfught result fro				NO
solely for the	e purpose (of, and	ng process de so they have, of the public	, as their			YES
******	*****	*****	******	******	*****	*****	*****
Does the pro	posed rule	e have a	un economic i	impact?			NO
If the proposed rule has an economic impact, the proposed rule is required to be accompanied by a fiscal note prepared in accordance with subsection (f) of section 41-22-23, Code of Alabama 1975.							
**************************************			************* icial	******	*****	*****	*****
I certify that the attached proposed rule has been proposed in full compliance with the requirements of Chapter 22, Title 41, Code of Alabama 1975, and that it conforms to all applicable filing requirements of the Administrative Procedure Division of the Legislative Reference Service.							
Signature of	certifying	officer _.	i'llow	b E	Wil	_	
Date 01-20-2017							
					Date Filed	7	

ALABAMA DEPARTMENT OF ENVIRONMENTAL MANAGEMENT AIR DIVISION

NOTICE OF INTENDED ACTION

AGENCY NAME:

Alabama Department of Environmental Management

RULE NO. & TITLE:

335-3 Appendix C EPA Regulations Reference Documents for New Source Performance Standards and National Emission Standards for Hazardous Air Pollutants (Amend)

INTENDED ACTION: Revise Division 3 of the ADEM Administrative Code with the amendment of Appendix C (EPA Regulations Reference Documents for New Source Performance Standards and National Emission Standards for Hazardous Air Pollutants).

SUBSTANCE OF PROPOSED ACTION:

The Department proposes to make revisions to Division 3 of the Administrative Code. Appendix C of this Division is being revised to reflect the changes in Chapters 335-3-10 and -11 of this Division.

TIME, PLACE, MANNER OF PRESENTING VIEWS:

Comments may be submitted in writing or orally at a public hearing to be held 10:00 a.m., March 8, 2017, in ADEM Hearing Room, 1400 Coliseum Blvd., Montgomery, Alabama 36110.

FINAL DATE FOR COMMENT AND COMPLETION OF NOTICE: March 10, 2017

CONTACT PERSON AT AGENCY:

Larry Brown (334) 271-7878

lany Ellet

Director

APPENDIX C

Environmental Protection Agency Regulations Reference Documents

Cross Referenced to ADEM Rules and Regulations

New Source Performance Standards National Emission Standards For Hazardous Air Pollutants

The complete text of all finalized EPA regulations incorporated into these regulations is located in the documents listed below. Amendments, revisions, or clarifications of EPA regulations which have been codified in the CFR, as well as of finalized regulations which have not yet been codified, are not included in this listing and interested parties are advised to consult the <u>Federal Register</u> for such amendments or revisions. The exceptions listed below are identified by EPA as nondelegable to the States.

ADEM Chapter 335-3-10	40 CFR Part 60	Exceptions
335-3-1002(1) Subpart A	Subpart A	§60.8(b)(2)
		§60.8(b)(3)
		§60.11(e)(7)
		§60.11(e)(8)
		§60.13(g)
		§60.13(i)
		§60.13(j)(2)
335-3-1002(2)Subpart D	Subpart D	
335-3-1002(2)(a) Subpart Da	Subpart Da	§60.45a
335-3-1002(2)(b) Subpart Db	Subpart Db	§60.44b(f)
		§60.44b(g)
		§60.49b(a)(4)
335-3-1002(2)(c) Subpart Dc	Subpart Dc	§60.48c(a)(4)
335-3-1002(3) Subpart E	Subpart E	
335-3-1002(3)(a) Subpart Ea	Subpart Ea	
335-3-1002(3)(b) Subpart Eb	Subpart Eb	
335-3-1002(3)(c) Subpart Ec	Subpart Ec	§60.50c(i)
335-3-1002(4) Subpart F	Subpart F	§60.66

ADEM Chapter 335-3-10	40 CFR Part 60	Exceptions
335-3-1002(5) Subpart G	Subpart G	
335-3-1002(5)(a) Subpart Ga	Subpart Ga	
335-3-1002(6) Subpart H	Subpart H	
335-3-1002(7) Subpart I	Subpart I	
335-3-1002(8) Subpart J	Subpart J	§60.105(a)(13)(iii)
		§60.106(i)(12)
335-3-1002(8) (a) Subpart Ja	Subpart Ja	§60.109b
335-3-1002(9) Subpart K	Subpart K	
335-3-1002(9)(a) Subpart Ka	Subpart Ka	§60.114a
335-3-1002(9)(b) Subpart Kb	Subpart Kb	§60.111b(f)(4)
		§60.114(b)
		§60.116(e)(3)(iii)
:		§60.116(e)(3)(iv)
		§60.116b(f)(2)(iii)
335-3-1002(12) Subpart L	Subpart L	
335-3-1002(13) Subpart M	Subpart M	
335-3-1002(14) Subpart N	Subpart N	
335-3-1002(14)(a) Subpart Na	Subpart Na	
335-3-1002(15) Subpart O	Subpart O	§60.153(e)
335-3-1002(16) Subpart P	Subpart P	
335-3-1002(17) Subpart Q	Subpart Q	
335-3-1002(18) Subpart R	Subpart R	
335-3-1002(19) Subpart S	Subpart S	
335-3-1002(20) Subpart T	Subpart T	
335-3-1002(21) Subpart U	Subpart U	
335-3-1002(22) Subpart V	Subpart V	
335-3-1002(23) Subpart W	Subpart W	
335-3-1002(24) Subpart X	Subpart X	
335-3-1002(25) Subpart Y	Subpart Y	
335-3-1002(26) Subpart Z	Subpart Z	
335-3-1002(27) Subpart AA	Subpart AA	

ADEM Chapter 335-3-10	40 CFR Part 60	Exceptions
335-3-1002(27)(a) Subpart AAa	Subpart AAa	
335-3-1002(28) Subpart BB	Subpart BB	
335-3-1002(28) Subpart BBa	Subpart BBa	
335-3-1002(29) Subpart CC	Subpart CC	
335-3-1002(30) Subpart DD	Subpart DD	
335-3-1002(31) Subpart EE	Subpart EE	§60.316(d)
335-3-1002(32) Subpart FF	Reserved	
335-3-1002(33) Subpart GG	Subpart GG	§60.334(b)(2)
		§60.335(f)(1)
335-3-1002(34) Subpart HH	Subpart HH	
335-3-1002(35) Subpart II	Reserved	
335-3-1002(36) Subpart JJ	Reserved	
335-3-1002(37) Subpart KK	Subpart KK	
335-3-1002(38) Subpart LL	Subpart LL	
335-3-1002(39) Subpart MM	Subpart MM	
335-3-1002(40) Subpart NN	Subpart NN	
335-3-1002(41) Subpart OO	Reserved	
335-3-1002(42) Subpart PP	Subpart PP	
335-3-1002(43) Subpart QQ	Subpart QQ	
335-3-1002(44) Subpart RR	Subpart RR	§60.446(c)
335-3-1002(45) Subpart SS	Subpart SS	§60.456(d)
335-3-1002(46) Subpart TT	Subpart TT	§60.466(d)
335-3-1002(47) Subpart UU	Subpart UU	§60.474(g)
335-3-1002(48) Subpart VV	Subpart VV	§60.482-1(c)(2)
		§60.484
335-3-1002(48)(a) Subpart VVa	Subpart VVa	
335-3-1002(49) Subpart WW	Subpart WW	§60.496(c)
335-3-1002(50) Subpart XX	Subpart XX	§60.502(e)(6)
335-3-1002(51) Subpart YY	Reserved	
335-3-1002(52) Subpart ZZ	Reserved	
335-3-1002(53) Subpart AAA	Reserved	

ADEM Chapter 335-3-10	40 CFR Part 60	Exceptions
335-3-1002(54) Subpart BBB	Subpart BBB	§60.543(c)(2)(ii)(B)
335-3-1002(55) Subpart CCC	Reserved	
335-3-1002(56) Subpart DDD	Subpart DDD	§60.562-2(c)
335-3-1002(57) Subpart EEE	Reserved	
335-3-1002(58) Subpart FFF	Subpart FFF	
335-3-1002(59) Subpart GGG	Subpart GGG	
335-3-1002(59)(a) Subpart GGGa	Subpart GGGa	
335-3-1002(60) Subpart HHH	Subpart HHH	
335-3-1002(61) Subpart III	Subpart III	§60.613(e)
335-3-1002(62) Subpart JJJ	Subpart JJJ	
335-3-1002(63) Subpart KKK	Subpart KKK	
335-3-1002(64) Subpart LLL	Subpart LLL	
335-3-1002(65) Subpart MMM	Reserved	
335-3-1002(66) Subpart NNN	Subpart NNN	§60.663(e)
335-3-1002(67) Subpart OOO	Subpart 000	
335-3-1002(68) Subpart PPP	Subpart PPP	
335-3-1002(69) Subpart QQQ	Subpart QQQ	
335-3-1002(70) Subpart RRR	Subpart RRR	§60.703(e)
335-3-1002(71) Subpart SSS	Subpart SSS	§60.711(a)(16)
		§60.713(b)(1)(i)
		§60.713(b)(1)(ii)
		§60.713(b)(5)(i)
		§60.713(d)
		§60.715(a)
		§60.716
335-3-1002(72) Subpart TTT	Subpart TTT	§60.723(b)(1)
		§60.723(b)(2)(i)(C)
		§60.723(b)(2)(iv)
		§60.724(e)
		§60.725(b)
335-3-1002(73) Subpart UUU	Subpart UUU	

ADEM Chapter 335-3-10 335-3-1002(74) Subpart VVV	40 CFR Part 60 Subpart VVV	Exceptions §60.743(a)(3)(v)(A) §60.743(a)(3)(v)(B) §60.743(e) §60.745(a) §60.746
335-3-1002(75) Subpart WWW	Subpart WWW	§60.754(a)(5)
335-3-1002(76) Reserved <u>Subpart</u> XXX	ReservedSubpart XXX	§60.764(a)(5)
335-3-1002(77) Reserved	Reserved	
335-3-1002(78) Reserved	Reserved	
335-3-1002(79) Subpart AAAA	Subpart AAAA	
335-3-1002(80) Reserved	Reserved	
335-3-1002(81) Subpart CCCC	Subpart CCCC	§60.2030 §60.2115 §60.2100(b)(2)
335-3-1002(82) Reserved	Reserved	
335-3-1002(83) Reserved	Reserved	
335-3-1002(84) Reserved	Reserved	
335-3-1002(85) Reserved	Reserved	
335-3-1002(86) Reserved	Reserved	
335-3-1002(87) Subpart IIII	Subpart IIII	
335-3-1002(88) Subpart JJJJ	Subpart JJJJ	
335-3-1002(89) Subpart KKKK	Subpart KKKK	
335-3-1002(90) Subpart LLLL	Subpart LLLL	§60.4785(c)
335-3-1002(91) Subpart OOOO	Subpart 0000	
335-3-1002(91a) Subpart OOOOa	Subpart 0000a	
335-3-1002 (92) Reserved	Reserved	
335-3-1002 (93) Reserved	Reserved	
335-3-1002 (94) Reserved	Reserved	
335-3-1002 (95) Reserved	Reserved	
335-3-1002 (96) TTTT	Subpart TTTT	§60.5575(b)

ADEM Chapter 335-3-10	40 CFR Part 60	Exceptions
-----------------------	----------------	------------

History: Effective Date: May 25, 1976.

Amended: June 23, 1981; February 13, 1985; April 15, 1987; June 16, 1988; September 21, 1989; November 1, 1990; March 28, 1991; July 31, 1991; September 19, 1991; October 24, 1991; December 28, 1993; April 27, 1995; November 21, 1996; September 25, 1997; March 27, 1998; July 15, 1999; January 13, 2000; September 7, 2000; March 14, 2002; October 3, 2002; April 3, 2003; October 2, 2003; March 22, 2005; December 12, 2005; July 11, 2006; November 14, 2006; April 3, 2007; January 22, 2008; August 5, 2008; January 19, 2009; March 30, 2010; May 23, 2011; May 29, 2012; January 22, 2013; May 28, 2013; September 24, 2013; November 24, 2015; XXXXXX, 2017.

335-3-1003(1) Appendix A	Appendix A
335-3-1003(2) Appendix B	Appendix B
335-3-1003(3) Appendix F	Appendix F

History: Effective Date: June 16, 1988.

Amended: November 1, 1990; March 28, 1991; July 31, 1991; September 19, 1991; October 24, 1991; December 28, 1993; November 21, 1996; March 27, 1998; January 13, 2000; September 7, 2000; March 14, 2002; October 3, 2002; March 22, 2005; November 14, 2006; April 3, 2007; January 22, 2008; January 19, 2009; March 30, 2010, May 23, 2011; May 28, 2013; November 24, 2015; XXXXXX, 2017.

ADEM Chapter 335-3-11	40 CFR Part 61	Exceptions
335-3-1102(1) Subpart A	Subpart A	§61.04(b)
		§61.12
		§61.13(h)
		§61.13(i)
		§61.14(d)
		§61.14(g)
335-3-1102(2) Subpart C	Subpart C	§61.32(b)
335-3-1102(3) Subpart D	Subpart D	

ADEM Chapter 335-3-11 335-3-1102(4) Subpart E	40 CFR Part 61 Subpart E	Exceptions §61.53(c)(4) §61.55(d)
335-3-1102(5) Subpart F	Subpart F	§61.66 §61.67(g)
335-3-1102(9) Subpart J	Subpart J	§61.112(c)
335-3-1102(11) Subpart L	Subpart L	§61.136(d)
335-3-1102(12) Subpart M	Subpart M	§61.149(c)(2) §61.150(a)(4) §61.151(c) §61.152(b)(3) §61.154(d) §61.155(a)
335-3-1102(13) Subpart N	Subpart N	§61.162(c) §61.163(h) §61.164(a)
335-3-1102(14) Subpart O	Subpart O	§61.174(a)
335-3-1102(15) Subpart P	Subpart P	
335-3-1102(21) Subpart V	Subpart V	§61.242-1(c)(2) §61.244
335-3-1102(22) Reserved	Reserved	
335-3-1102(23) Reserved	Reserved	
335-3-1102(24) Subpart Y	Subpart Y	§61.273
335-3-1102(25) Reserved	Reserved	
335-3-1102(26) Reserved	Reserved	
335-3-1102(27) Subpart BB	Subpart BB	
335-3-1102(28) Reserved	Reserved	
335-3-1102(29) Reserved	Reserved	
335-3-1102(30) Reserved	Reserved	•

ADEM Chapter 335-3-11	40 CFR Part 61	Exceptions
335-3-1102(31) Subpart FF	Subpart FF	§61.353

History: Effective Date: May 25, 1976.

Amended: June 23, 1981; February 13, 1985; June 9, 1987; November 1, 1990; March 28, 1991; July 31, 1991; September 19, 1991; October 30, 1992; December 28, 1993; January 13, 2000; March 14, 2002; October 2, 2003; March 22, 2005; December 12, 2005; January 22, 2008: November 24, 2015; XXXXXX, 2017.

335-3-11-.03(1) Appendix B Appendix B

History: Effective Date: June 16, 1988

Amended: March 28, 1991; November 21, 1996; March 14, 2002: November

24, 2015-;XXXXXX, 2017.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-11-,06(1) Subpart A	Subpart A	§63.6(g)
		§63.6(h)(9)
		§63.7(e)(2)(ii)
		§63.7(f)
		§63.8(f)
		§63.10(f)
335-3-1106(2) Subpart B	Subpart B	
335-3-1106(3) Subpart D	Subpart D	
335-3-1106(4) Reserved	Reserved	
335-3-1106(5) Subpart F	Subpart F ¹	See Footnote
335-3-1106(6) Subpart G	Subpart G	§63.153(c)(1)-(4)

The following are not delegable: (1) Approval of alternatives to requirements in §§ 63.100, 63.102, and 63.104. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-4-1106(7) Subpart H	Subpart H ²	See Footnote
335-3-1106(8) Subpart I	Subpart I ³	See Footnote
335-3-1106(9) Reserved	Reserved	
335-3-1106(10) Reserved	Reserved	
335-3-1106(11) Subpart L	Subpart L ⁴	See Footnote
335-3-1106(12) Subpart M	Subpart M ⁵	See Footnote

² The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.160, 63.162 through 63.176, 63.178 through 63.179. Follow the applicable procedures of § 63.177 to request an alternative means of emission limitation for batch processes and enclosed-vented process units. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. Where these standards reference another subpart and modify the requirements, the requirements shall be modified as described in this subpart. Delegation of the modified requirements will also occur according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.190 and 63.192(a) through (b), (e), and (h) through (j). Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

⁴ The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.300 and 63.302 through 63.308 (except the authorities in 63.306(a)(2) and (d)). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in §63.90, and as required in this subpart. (3) Approval of any changes to section 2 of Method 303 in appendix A of this part. (4) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (5) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(13) Subpart N	Subpart N	§63.348(c)(1)-(4)
335-3-1106(14) Subpart O	Subpart O	§63.368(c)(1)-(4)
335-3-1106(15) Reserved	Reserved	
335-3-1106(16) Subpart Q	Subpart Q ⁶	See Footnote
335-3-1106(17) Subpart R	Subpart R ⁷	See Footnote
335-3-1106(18) Subpart S	Subpart S ⁸	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.320 and 63.322(a) through (j). Follow the requirements in § 63.325 to demonstrate that alternative equipment or procedures are equivalent to the requirements of § 63.322. (2) Approval of major alternatives to test methods under 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.400 and 63.402 through 63.403. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.420, 63.422 through 63.423, and 63.424. Any owner or operator requesting to use an alternative means of emission limitation for storage vessels covered by § 63.423 must follow the procedures in § 63.426. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart, and any alternatives to § 63.427(a)(1) through (4) per § 63.427(a)(5). (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

⁸ The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.440, 63.443 through 63.447 and 63.450. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Approval of alternatives to using §§ 63.457(b)(5)(ii), 63.457(c)(5)(ii) through (iii), and 63.257(c)(5)(ii), and any major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of alternatives using § 64.453(m) and any major alternatives to monitoring under

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(19) Subpart T	Subpart T ⁹	See Footnote
335-3-1106(20) Subpart U	Subpart U ¹⁰	See Footnote
335-3-1106(21) Reserved	Reserved	
335-3-1106(22) Subpart W	Subpart W11	See Footnote

^{§ 63.8(}f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.460, 63.462(a) through (d), and 63.463 through 63.464 (except for the authorities in § 63.463(d)(9)). Use the procedures in § 63.469 to request the use of alternative equipment or procedures. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

⁽¹⁾ Approval of alternatives to the 10 The following are not delegable: requirements in §§ 63.480 through 63.481, 63.483(a) through (c), 63.484, 63.485(a) through (k), (m), through (s), (u), 63.486 through 63.487, 63.488(a), (b)(1) through (4), (5)(iv) through (v), (6) through (7), (c) through (i), 63.493 through 63.494, 63.500(a)(1) through (3), (b), 63.501, 63.502(a) through (f), (i), (k) through (m), and 63.503. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. Where these standards reference another subpart and modify the requirements, the requirements shall be modified as described in this subpart. Delegation of the modified requirements will also occur according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, (3) Approval of major alternatives to and as required in this subpart. monitoring under § 63.8(f), as defined in § 63.90, and as required in this (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.520, 63.521, 63.523, and 63.524. Where these standards reference another rule, the cited provisions in that rule will be delegated according to the delegation provisions of that rule. (2) Approval of major alternatives to test methods for under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(23) Subpart X	Subpart X	§63.551(c)(1)-(4)
335-3-1106(24) Subpart Y	Subpart Y	§63.568(c)(1)-(4)
335-3-1106(25) Reserved	Reserved	
335-3-1106(26) Subpart AA	Subpart AA ¹³	§63.611(b)(1)-(5)See Feetnote
335-3-1106(27) Subpart BB	Subpart BB ⁴³	§63.632(b)See Footnote
335-3-1106(28) Subpart CC	Subpart CC	§63.656(c)(1)-(4)
335-3-1106(29) Subpart DD	Subpart DD14	See Footnote
335-3-1106(30) Subpart EE	Subpart EE ¹⁵	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.600, 63.602 through 63.604, and 63.609 through 63.610. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.620, 63.622 through 63.624, and 63.629 through 63.631. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.680, 63.683 through 63.691, and 63.693. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.701 and 63.703. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(31) Reserved	Reserved	
335-3-1106(32) Subpart GG	Subpart GG	§63.759(c)(1)-(4)
335-3-1106(33) Subpart HH	Subpart HH16	See Footnote
335-3-1106(34) Subpart II	Subpart II ¹⁷	See Footnote
335-3-1106(35) Subpart JJ	Subpart JJ ¹⁸	See Footnote
335-3-1106(36) Subpart KK	Subpart KK ¹⁹	See Footnote

in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.760, 63.764 through 63.766, 63.769, 63.771, and 63.777. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.780 through 63.781, and 63.783 through 63.784. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.800, 63.802, and 63.803(a)(1), (b), (c) introductory text, and (d) through (l). (2) Approval of alternatives to the monitoring and compliance requirements in §§ 63.804(f)(4)(iv)(D) and (E), 63.804(g)(4)(iii)(C), 63.804(g)(4)(vi), and 63.804(g)(6)(vi). (3) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart, as well as approval of any alternatives to the specific test methods under §§ 63.805(a), 63.805(d)(2)(v), and 63.805(e)(1). (4) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (5) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(37) Reserved	Reserved	
335-3-1106(38) Subpart MM	Subpart MM ²⁰	See Footnote
335-3-1106(39) Reserved	Reserved	
335-3-1106(40) Subpart OO	Subpart OO21	See Footnote
335-3-1106(41) Subpart PP	Subpart PP ²²	See Footnote
335-3-1106(42) Subpart QQ	Subpart QQ ²³	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.820 through 63.821 and 63.823 through 63.826. (2) Approval of alternatives to the test method for organic HAP content determination in § 63.827(b) and alternatives to the test method for volatile matter in § 63.827(c), and major alternatives to other test methods under § 63.7(e)((2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Pursuant to §63.6(g), approval of alternatives to standards in §63.862. (2) Pursuant to §63.7(e)(2)(ii) and (f) and as defined in §63.90, approval of major alternatives to test methods. (3) Pursuant to §63.8(f) and as defined in §63.90, approval of major alternatives to monitoring. (4) Pursuant to §63.10(f) and as defined in §63.90, approval of major alternatives to recordkeeping and reporting.

The following are not delegable: (1) Approval of alternatives to the requirements in § 63.900 and 63.902. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.920 and 63.922 through 63.924. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(43) Subpart RR	Subpart RR ²⁴	See Footnote
335-3-1106(44) Subpart SS	Subpart SS ²⁵	See Footnote
335-3-1106(45) Subpart TT	Subpart TT ²⁶	See Footnote
335-3-1106(46) Subpart UU	Subpart UU ²⁷	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.940, 63.942, and 63.943. Where these standards reference subpart DD, the cited provisions will be delegated according to the delegation provisions of subpart DD. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.960 and 63.962. Where these standards reference subpart DD, the cited provisions will be delegated according to the delegation provisions subpart DD of this part. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the non-opacity emissions standards in § 63.983(a) and (d), 63.984, 63.985(a), 63.986(a), 63.987 (a), 63.988(a), 63.990(a), 63.993(a), 63.994(a), and 63.995(a) under § 63.6(g). Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Reserved. (3) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (4) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (5) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the non-opacity emissions standards in § 63.1003 through 63.1015, under § 63.6(g). Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Reserved. (3) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (4) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (5) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(47) Subpart VV	Subpart VV ²⁸	See Footnote
335-3-1106(48) Subpart WW	Subpart WW ²⁹	See Footnote
335-3-1106(49) Subpart XX	Subpart XX ³⁰	See Footnote
335-3-1106(50) Subpart YY	Subpart YY	§63.1114(b)(1)-(5)
335-3-1106(51) Reserved	Reserved	
335-3-1106(52) Reserved	Reserved	

The following are not delegable: (1) Approval of alternatives to the non-opacity emissions standards in § 63.1022 through 63.1034, under § 63.6(g), and the standards for quality improvement programs in § 63.1035. Where these standards reference another subpart, the cited provisions will be delegated according to the delegation provisions of the referenced subpart. (2) Reserved. (3) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (4) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (5) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1040 and 63.1042 through 63.1045. Where these standards reference subpart DD, the cited provisions will be delegated according to the delegation provisions of subpart DD of this part. (2) Approval of major alternatives to test methods under § 63.7(e)(20(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

²⁹ The following are not delegable: (1) Approval of alternatives to the non-opacity emissions standards in §§ 63.1062 and 63.1063(a) and (b) for alternative means of emission limitation, under § 63.6(g). (2) Reserved. (3) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (4) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (5) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

³⁰ The following are not delegable: (1) Approval of alternatives to the non-opacity emissions standards in §§ 63.1085, 63.1086 and 63.1095 under § 63.6(g). Where these standards reference another subpart, the cited provisions will be delegated provisions of the referenced subpart. (2) Reserved. (3) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (4) Approval of major changes to monitoring under § 63.90. (5) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(53) Reserved	Reserved	
335-3-1106(54) Subpart CCC	Subpart CCC31	See Footnote
335-3-1106(55) Subpart DDD	Subpart DDD ³²	§See Footnote <u>63.1195(c)</u>
335-3-1106(56) Subpart EEE	Subpart EEE33	See Footnote
335-3-1106(57) Reserved	Reserved	
335-3-1106(58) Subpart GGG	Subpart GGG	§63.1261(c)(1)-(4)
335-3-1106(59) Subpart HHH	Subpart HHHI ³⁴	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1155, 63.1157 through 63.1159, and 63.1160(a). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of any alternative measurement methods for HCl and CL₂ to those specified in § 63.1161(d)(1). (4) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (5) Approval of any alternative monitoring requirements to those specified in §§ 63.1162(a)(2) through (5) and 63.1162(b)(1) through (3). (6) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart. (7) Waiver of recordkeeping requirements specified in § 63.1165. (8) Approval of an alternative schedule for conducting performance tests to the requirement specified in § 63.1162 (a)(1).

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1177 through 63.1180. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1200, 63.1203 through 63.1205, and 63.1206(a). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1270, 63.1274 through 63.1275, 63.1281, and 63.1287. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(60) Subpart III	Subpart III	§63.1309(c)(1)-(4)
335-3-1106(61) Subpart JJJ	Subpart JJJ	§63.1336(c)(1)-(4)
335-3-1106(62) Reserved	Reserved	
335-3-1106(63) Subpart LLL	Subpart LLL	§63.1358
335-3-1106(64) Subpart MMM 335-3-1106(65) Subpart NNN	Subpart MMM Subpart NNN ³⁵	§63.1369(c)(1)-(4) § See Footnote63.1388(c)
335-3-1106(66) Subpart OOO	Subpart OOO	§63.1419(c)(1)-(4)
335-3-1106(67) Subpart PPP	Subpart PPP	§63.1421(c)(1)-(4)
335-3-1106(68) Reserved	Reserved	
335-3-1106(69) Subpart RRR	Subpart RRR	§63.1519(c)(1)-(4)
335-3-1106(70) Reserved	Reserved	
335-3-1106(71) Reserved	Reserved	
335-3-1106(72) Subpart UUU	Subpart UUU ³⁶	<u>§63.1578(c)(1)-(5)</u> See Footnote
335-3-1106(73) Subpart VVV	Subpart VVV ³⁷	See Footnote

alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1380, 63., and 63.1387. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the non-opacity emission limitations and work practice standards in §§63.1564 through 63.1569 under §63.6(g). (2) Approval of alternative opacity emission limitations in §§63.1564 through 63.1569 under §63.6(h)(9). (3) Approval of major alternatives to test methods under §63.7(e)(2)(ii) and (f) and as defined in §63.90. (4) Approval of major alternatives to monitoring under §63.8(f) and as defined in §63.90. (5) Approval of major alternatives to recordkeeping and reporting under §63.10(f) and as defined in §63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(74) Reserved	Reserved	
335-3-1106(75) Subpart XXX	Subpart XXX ³⁸	See Footnote
335-3-1106(76) Reserved	Reserved	
335-3-1106(77) Reserved	Reserved	
335-3-1106(78) Subpart AAAA	Subpart AAAA ³⁹	See Footnote
335-3-1106(79) Reserved	Reserved	
335-3-1106(80) Subpart CCCC	Subpart CCCC	
335-3-1106(81) Subpart DDDD	Subpart DDDD ⁴⁰	See Footnote
335-3-1106(82) Subpart EEEE	Subpart EEEE41	See Footnote

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1580, 63.1583 through 63.1584, and 63.1586 through 63.1587. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.1650 and 63.1652 through 63.1654. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), as defined in § 63.90, and as required in this subpart. (3) Approval of major alternatives to monitoring under § 63.8(f), as defined in § 63.90, and as required in this subpart. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f), as defined in § 63.90, and as required in this subpart.

³⁹ The following is not delegable: Approval of alternatives to the standards in §63.1955.

The following is not delegable: (1) Approval of alternatives to the compliance options, operating requirements, and work practice requirements in §§ 63.2240 and 63.2241 as specified in § 63.6(g). For the purposes of delegation authority under 40 CFR part 63, subpart E, "compliance options" represent "emission limits"; "operating requirements" represent "operating limits"; and "work practice requirements" represent "work practice standards." (2) Approval of major alternatives to test methods as specified in § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring as specified in § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting as specified in § 63.10(f) and as defined in § 63.90. (5) Approval of PCWP sources demonstrations of eligibility for the low-risk subcategory developed according to appendix B of this subpart.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(83) Subpart FFFF	Subpart FFFF ⁴²	See Footnote
335-3-1106(84) Subpart GGGG	Subpart GGGG	
335-3-1106(85) Subpart HHHH	Subpart HHHHH ⁴³	See Footnote
335-3-1106(86) Subpart IIII	Subpart IIII44	See Footnote
335-3-1106(87) Subpart JJJJ	Subpart JJJJ ⁴⁵	See Footnote
335-3-1106(88) Subpart KKKK	Subpart KKKK ⁴⁶	See Footnote

The following are not delegable: (1) Approval of alternatives to the non-opacity emission limitations, operating limits, and work practice standards in § 63.2346(a) through (c) under § 63.6(g). (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the non-opacity emission limits and work practice standards in § 63.2450(a) under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁴³ The following are not delegable: (1) The authority under § 63.6(g) to approve alternatives to the emission limits in §63.2983 and operating limits in § 63.2984. (2) The authority under § 63.7(e)(2)(ii) and (f) to approve of major alternatives (as defined in § 63.90) to the test methods in § 63.2993. (3) The authority under § 63.8(f) to approve major alternatives (as defined in § 63.90) to the monitoring requirements in §§ 63.2996 and 63.2997. (4) The authority under § 63.10(f) to approve major alternatives (as defined in § 63.90) to recordkeeping, notification, and reporting requirements in §§ 63.2998 through 63.3000.

⁴⁴ The following are not delegable: (1) Approval of alternatives to the work practice standards in § 63.3094 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁴⁵ The following are not delegable: (1) § 63.3360(c), approval of alternate test method for organic HAP content determination; (2) § 63.3360(d), approval of alternate test method for volatile matter determination.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(89) Reserved	Reserved	
335-3-1106(90) Subpart MMMM	Subpart MMMM ⁴⁷	See Footnote
335-3-1106(91) Subpart NNNN	Subpart NNNN ⁴⁸	See Footnote
335-3-1106(92) Subpart OOOO	Subpart OOOO ⁴⁹	See Footnote
335-3-1106(93) Subpart PPPP	Subpart PPPP50	See Footnote
335-3-1106(94) Subpart QQQQ	Subpart QQQQ ⁵¹	See Footnote

The following are not delegable: (1) Approval of alternatives to the work practice standards in § 63.3493. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (I) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the requirements in § 63.3881 through 3883 and § 63.3890 through 3893. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁴⁸ The following are not delegable: (1) Approval of alternatives to the work practice standards in § 63.4093 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁴⁹ The following are not delegable: (1) Approval of alternatives to the work practice standards in § 63.4293 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.4481 through 4483 and §§ 63.4490 through 4493. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁵¹ The following are not delegable: (1) Approval of alternatives to the work practice standards under § 63.4693. (2) Approval of major alternatives to test

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(95) Subpart RRRR	Subpart RRRR ⁵²	See Footnote
335-3-1106(96) Subpart SSSS	Subpart SSSS ⁵³	See Footnote
335-3-1106(97) Reserved	Reserved	
335-3-1106(98) Reserved	Reserved	
335-3-1106(99) Subpart VVVV	Subpart VVVV ⁵⁴	§63.5698
		§63.5728
		§63.5731(a)
		§63.5734
		§63.5740(a)
		§63.5743
		§63.5746(g)
335-3-1106(100) Subpart WWWW	Subpart WWWW ⁵⁵	See Footnote

methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the work practice standards in § 63.4893 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f), and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the emission limitation in §63.5120. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in §63.5160. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.5150. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in §§ 63.5180 and 63.5190.

The following are also not delegable: Pursuant to § 63.7(e)(2)(ii) and (f), the authority to approve alternatives to the test methods in §§ 63.5719(b), 63.5719(c), 63.5725(d)(1), and 63.5758; pursuant to § 63.8(f), the authority to approve major alternatives to the monitoring requirements in § 63.5725; pursuant to § 63.10(f), the authority to approve major alternatives to the reporting and recordkeeping requirements listed in §§ 63.5764, 63.5767, and 63.5770.

⁵⁵ The following are not delegable: (1) Approval of alternatives to the organic HAP emissions standards in § 63.5805 under § 63.6(g). (2) Approval of major

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(101) Subpart XXXX	Subpart XXXX ⁵⁶	See Footnote
335-3-1106(102) Subpart YYYY	Subpart YYYY ⁵⁷	See Footnote
335-3-1106(103) Subpart ZZZZ	Subpart ZZZZ	§63.6670(c)(1)-(5)
335-3-1106(104) Subpart AAAAA	Subpart AAAAA ⁵⁸	See Footnote
335-3-1106(105) Subpart BBBBB	Subpart BBBBB59	See Footnote
335-3-1106(106) Subpart CCCCC	Subpart CCCCC60	See Footnote

changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

- The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.5981 through 63.5984, 63.5986, and 63.5988. (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.
- 57 The following are not delegable: (1) Approval of alternatives to the emission limitations or operating limitations in § 63.6100 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90. (5) Approval of a performance test which was conducted prior to the effective date of the rule to determine outlet formaldehyde concentration as specified in § 63.6110(b).
- The following are not delegable: (1) Approval of alternatives to the non-opacity emission limitations in § 63.7090(a). (2) Approval of alternative opacity emission limitations in § 63.7090(a). (3) Approval of alternatives to the operating limits in § 63.7090(b). (4) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (5) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (6) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.
- The following are not delegable: (1) Approval of alternatives to the non-opacity emission limitations in § 63.7184 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(107) Subpart DDDDD	Subpart DDDDD	§63.7570(<u>b)</u>
335-3-1106(108) Subpart EEEEE	Subpart EEEEE61	See Footnote
335-3-1106(109) Subpart FFFFF	Subpart FFFFF62	See Footnote
335-3-1106(110) Subpart GGGGG	Subpart GGGGG63	See Footnote

The following are not delegable: (1) Approval of alternatives to work practice standards for fugitive pushing emissions in § 63.7291(a) for a by-product coke oven battery with vertical flues, fugitive pushing emissions in § 63.7292(a) for a by-product coke oven battery with horizontal flues, fugitive pushing emissions in § 63.7293 for a non-recovery coke oven battery, soaking for a by-product coke oven battery in § 63.7294(a), and quenching for a coke oven battery in § 63.7295(b) under § 63.6(g). (2) Approval of alternatives opacity emission limitations for a by-product coke oven battery under § 63.6(h)(9). (3) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90, except for alternative procedures in § 63.7334(a)(7). (4) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (5) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90. (6) Approval of the work practice plan for by-product coke oven batteries with horizontal flues submitted under § 63.7292(a)(1).

⁶¹ The following are not delegable: (1) Approval of alternatives to non-opacity emissions limitations in § 63.7690 and work practice standards in § 63.7700 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁶² The following are not delegable: (1) Approval of alternative opacity emission limits in Table 1 to this subpart under § 63.6(h)(9). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90, except for approval of an alternative method for the oil content of the sinter plant feedstock or volatile organic compound measurements for the sinter plant windbox exhaust stream stack as provided in § 63.7824(f). (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁶³ The following are not delegable: (1) Approval of alternatives to the non-opacity emissions limitations and work practice standards in this subpart under § 63.6(g). (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(111) Subpart ННННН	Subpart HHHHH64	See Footnote
335-3-1106(112) Subpart IIIII	Subpart IIIII ⁶⁵	See Footnote
335-3-1106(113) ReservedSubpart	Reserved <u>Subpart</u> <u>JJJJJ</u>	§63.8510(c)
335-3-1106(114) ReservedSubpart K <u>KKKK</u>	ReservedS <u>ubpart</u> <u>KKKKK</u>	§63,8660(c)
335-3-1106(115) Subpart LLLLL	Subpart LLLLL66	See Footnote
335-3-1106(116) Reserved	Reserved	
335-3-1106(117) Subpart NNNNN	Subpart NNNNN ⁶⁷	See Footnote

changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the non-opacity emission limits and work practice standards in § 63.8000(a) under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁶⁵ The following are not delegable: (1) Approval of alternatives under § 63.6(g) to the non-opacity emission limitations in § 63.8190 and work practice standards in § 63.8192. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of alternatives to the requirements in §§ 63.8681, 63.8682, 63.8683, 63.8684(a) through (c), 63.8686, 63.8687, 63.8688, 63.8689, 63.8690, and 63.8691. (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁶⁷ The following are not delegable: (1) Approval of alternatives to requirements in §§ 63.8980, 63.8985, 63.8990, 63.8995, and 63.9000. (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(118) Reserved	Reserved	
335-3-1106(119) Subpart PPPPP	Subpart PPPPP68	See Footnote
335-3-1106(120) Subpart QQQQQ	Subpart QQQQQ ⁶⁹	See Footnote
335-3-1106(121) Subpart RRRRR	Subpart RRRRR ⁷⁰	See Footnote
335-3-1106(122) Reserved	Reserved	
335-3-1106(123) Subpart TTTT	Subpart TTTT ⁷¹	See Footnote
335-3-1106(124)SubpartUUUUU	Subpart UUUUU	§63.10041(b)(1)-(4)
335-3-1106(125) Reserved	Reserved	
335-3-1106(126) Reserved	Reserved	
335-3-1106(127) Reserved	Reserved	

⁶⁸ The following are not delegable: (1) Approval of alternatives to the emission limitations in § 63.9300 under § 63.6(g). (2) Approval of major changes to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major changes to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major changes to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁶⁹ The following are not delegable: (1) Approval of alternatives to the emission limitations in § 63.9500(a) and (b) under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

The following are not delegable: (1) Approval of non-opacity emission limitations and work practice standards under § 63.6(h)(9) and as defined in § 63.90. (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

⁷¹ The following are not delegable: (1) Approval of alternatives to the non-opacity emission limitations in § 63.9890 and work practice standards in § 63.9891 under § 63.6(g). (2) Approval of major alternatives to test methods under § 63.7(e)(2)(ii) and (f) and as defined in § 63.90. (3) Approval of major alternatives to monitoring under § 63.8(f) and as defined in § 63.90. (4) Approval of major alternatives to recordkeeping and reporting under § 63.10(f) and as defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(128) Subpart YYYYY	Subpart YYYYY	§63.10691(c)(1)-(6)
335-3-1106(129) Subpart ZZZZZ	Subpart ZZZZZ	§63.10905(c)(1)-(6)
335-3-1106(130) Reserved	Reserved	
335-3-1106(131) Reserved	Reserved	
335-3-1106(132) Reserved	Reserved	
335-3-1106(133) Subpart DDDDDD	Subpart DDDDDD	§63.11145(b)
335-3-1106(134) Subpart EEEEEE	Subpart EEEEEE ⁷²	See Footnote
335-3-1106(135) Subpart FFFFFF	Subpart FFFFFF ⁷³	See Footnote
335-3-1106(136) Subpart GGGGGG	Subpart GGGGGG ⁷⁴	See Footnote

⁷² The following are not delegable: (1) Approval of an alternative non-opacity emissions standard under § 63.6(g). (2) Approval of an alternative opacity emissions standard under § 63.6(h)(9). (3) Approval of a major change to a test method under § 63.7(e)(2)(ii) and (f). A "major change to test method" is defined in § 63.90. (4) Approval of a major change to monitoring under § 63.8(f). A "major change to monitoring" is defined in § 63.90. (5) Approval of a major change to recordkeeping/reporting under § 63.10(f). A "major change to recordkeeping/reporting" is defined in § 63.90.

⁷³ The following are not delegable: (1) Approval of an alternative non-opacity emissions standard under §63.6(g). (2) Approval of a major change to test methods under §63.7(e)(2)(ii) and (f). A "major change to test method" is defined in §63.90. (3) Approval of a major change to monitoring under §63.8(f). A "major change to monitoring" is defined in §63.90. (4) Approval of a major change to recordkeeping/reporting under §63.10(f). A "major change to recordkeeping/reporting" is defined in §63.90.

⁷⁴ For primary zinc production facilities, the following are not delegable: (1) Approval of an alternative non-opacity emissions standard under § 63.6(g). (2) Approval of an alternative opacity emissions standard under § 63.6(h)(9). (3) Approval of a major change to test methods under §63.7(e)(2)(ii) and (f). A "major change to test method" is defined in § 63.90. (4) Approval of a major change to monitoring under § 63.8(f). A "major change to monitoring" is defined in §63.90. (5) Approval of a major change to recordkeeping/reporting under § 63.10(f). A "major change to recordkeeping/reporting" is defined in § 63.90. For primary beryllium manufacturing facilities, the following are not delegable: (1) Approval of an alternative non-opacity emissions standard under 40 CFR (2) Approval of a major change to test methods under 40 CFR 61.13(h). A "major change to test method" is defined in §63.90. (3) Approval of a major change to monitoring under 40 CFR 61.14(g). A "major change to (4) Approval of a major change to monitoring" is defined in §63.90. recordkeeping/reporting under 40 CFR 61.10. A "major change to recordkeeping/reporting" is defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(137) Reserved	Reserved	
335-3-1106(138) Reserved	Reserved	
335-3-1106(139) Reserved	Reserved	
335-3-1106(140) Reserved	Reserved	
335-3-1106(141) Subpart LLLLLL	Subpart LLLLLL	§63.11399(b)(1)-(4)
335-3-1106(142) Subpart MMMMMM	Subpart MMMMMM	§63.11406(b)(1)-(4)
335-3-1106(143) Reserved	Reserved	
335-3-1106(144) ReservedSubpart 000000	ReservedSubpart OOOOO	§63.11420(b)(1)-(4)
335-3-1106(145) Reserved	Reserved	
335-3-1106(146) Subpart QQQQQQ	Subpart QQQQQQ ⁷⁵	See Footnote
335-3-1106(147) Reserved	Reserved	
335-3-1106(148) Reserved	Reserved	
335-3-1106(149) Subpart TTTTT	Subpart TTTTT	§63.11473(c)(1)-(4)
335-3-1106(150) Reserved	Reserved	
335-3-1106(151) Subpart VVVVVV	Subpart VVVVVV	§63.11503(b)(1)-(4)
335-3-1106(152) Reserved	Reserved	
335-3-1106(153) Reserved	Reserved	
335-3-1106(154) Subpart YYYYYY	Subpart YYYYYY	§63.11531(c)(1)-(5)
335-3-1106(155) Subpart ZZZZZZ	Subpart ZZZZZZ	§63.11557(c)(1)-(5)
335-3-1106(156) Subpart AAAAAAA	Subpart AAAAAAA	§63.11567(b)
335-3-1106(157) Reserved	Reserved	

⁷⁵ The following are not delegable: (1) Approval of an alternative nonopacity emissions standard under § 63.6(g). (2) Approval of a major change to test methods under § 63.7(e)(2)(ii) and (f). A "major change to test method" is defined in § 63.90 (3) Approval of a major change to monitoring under § 63.8(f). A "major change to monitoring" is defined in § 63.90. (4) Approval of a major change to recordkeeping/reporting under § 63.10(f). A "major change to recordkeeping/reporting" is defined in § 63.90.

ADEM Chapter 335-3-11	40 CFR Part 63	Exceptions
335-3-1106(158) Subpart CCCCCC	Subpart CCCCCCC ⁷⁶	See Footnote
335-3-1106(159) Subpart DDDDDDD	Subpart DDDDDDDD ⁷⁷	See Footnote
335-3-1106(160) Reserved	Reserved	
335-3-1106(161) Reserved	Reserved	
335-3-1106(162) Reserved	Reserved	
335-3-1106(163) Subpart НННННН	Subpart HHHHHHH	§63.12000(b)

History: Effective Date: November 23, 1995.

Amended: November 21, 1996; September 25, 1997; March 27, 1998; November 19, 1998; July 15, 1999; January 13, 2000; September 7, 2000; March 14, 2002; October 3, 2002; April 3, 2003; October 2, 2003; March 22, 2005; December 12, 2005; July 11, 2006; April 3, 2007; January 22, 2008; August 5, 2008; January 19, 2009; March 30, 2010; May 23, 2011; May 29, 2012; January 22, 2013; May 28, 2013; September 24, 2013; November 24, 2015; XXXXXX, 2017.

335-3-1107(1) Appendix A Appendix A	Sect. 2, Method 303
335-3-1107(2) Appendix B Appendix B	
335-3-1107(3) Appendix C Appendix C	
335-3-1107(4) Appendix D Appendix D	
335-3-1107(5) Appendix E Appendix E	

The following are not delegable: (1) Approval of an alternative nonopacity emissions standard under § 63.6(g). (2) Approval of a major change to test methods under § 63.7(e)(2)(ii) and (f). A "major change to test method" is defined in § 63.90 (3) Approval of a major change to monitoring under § 63.8(f). A "major change to monitoring" is defined in § 63.90. (4) Approval of a major change to recordkeeping/reporting under § 63.10(f). A "major change to recordkeeping/reporting" is defined in § 63.90.

⁷⁷ The following are not delegable: (1) Approval of an alternative nonopacity emissions standard under § 63.6(g). (2) Approval of an alternative opacity emissions standard under § 63.6(h)(9). (3) Approval of a major change to test methods under § 63.7(e)(2)(ii) and (f). A "major change to test method" is defined in § 63.90. (4) Approval of a major change to monitoring under § 63.8(f). A "major change to monitoring" is defined in § 63.90. (5) Approval of a major change to recordkeeping and reporting under § 63.10(f). A "major change to recordkeeping" is defined in § 63.90.

ADEM Chapter 335-3-11

40 CFR Part 63

Exceptions

History: Effective Date: November 23, 1995.

Amended: November 21, 1996; September 25, 1997; November 19, 1998; July 15, 1999; January 13, 2000; March 14, 2002; March 30, 2010;

May 23, 2011; May 28, 2013; November 24, 2015; XXXXXX, 2017.

ADEM Chapter 335-3-11A	40 CFR Part 65	Exceptions
335-3-11A02(1) Subpart A	Subpart A	§65.8
		§65.46
		§65.102
		§65.156(b)(1)(ii)
		§65.158(a)(2)(ii)
335-3-11A02(2) Reserved	Reserved	
335-3-11A02(3) Subpart C	Subpart C	
335-3-11A02(4) Subpart D	Subpart D	
335-3-11A02(5) Subpart E	Subpart E	
335-3-11A02(6) Subpart F	Subpart F	
335-3-11A02(7) Subpart G History: Effective Date: March 14 Amended: August 5, 2008; Nover	•	